H R E120255F04 H R SR AR A 15 DRI B & R T80

FE | pREE | BRAN | FIrs]|  SnEem | RRem
1 e 1 TR 64032 Ikt 1 317 390
> oy 1 5 Fj 7 64212 3%sksksksikokok 328 390
3 Py 2 SIEIK 64032 | skskskskokokok 1317 780
2 Py 1 Bif R 5T 6421 23skskskskskskskok 1 320) 390
5 e 1 2R 64032 I ssototoksk 1 320 390
e oy 1 i, B 642123%ksksksksieokok 131 1 390
7 e 1 = 64222 2% kkskkkk 442 1 390
p Py 1 Fa 64032 [ skskskstsisksksk 1 329 390
9 e 1 ik S gt 64222 2skskskskokokek 1 823 390
0 oy 1 T 64222 2%skskskskskokok 1812 390
T Py 1 Bl 2 A 64222 2skskkskokokk | 81X 390
5 oy 1 155 i 64032 | kskskskokokok 1 323 390
3 Py 1 W2 64032 | kst 1 321 390
2 Py 2 B EE 64222 2skkskskskokokok 1818 780
15 e 1 =R 64032 I ksotork 1 318 390
e oy 1 25 ) B 64032 [ kst 1 403 390
17 e 2 =T 64032 I skstotorok 1 313 780
13 Py 1 A 2 64032 [ skskssioksksksk 316 450
19 e 1 22 HF 642222tk 0tkk0k 1843 390

0 oy 1 Mg 64212 3sksksokskskok | 346 390
1 e 1 9 642123k 2413 390
> oy 1 S 2 640502:%sksksksksksksk 1 31X 390
3 ey 1 BT 64229 2xsxsksksksksksk | 880 390
2 Py 1 45 B 64032 [ ksksksiesiekokok 1 325 390
75 e 1 T [ 64212 3skkkkkkkek 1315 450
e oy 1 EBTE 64222 2sksksksksksksksk ] 82X 390
27 e 1 [EF 64212 3skskskskkkokk 1 323 390
o8 Py 2 At 64212 3%sksksksiskokok 1 322 780
29 B 1 e 64032 sk ] 321 390
20 oy 1 =k 64032 L kst 1 35X 450
31 e 1 L5k, 64222 2skskskskokokek 1218 390
) oy 1 o2z 64032 [ sksksksisiokokok 1 347 450
3 Py 2 WIhE 64212 3kkskskokokokok 1313 780
) Py 1 i /NE 64222 2skskskskskskskok | 826 390
3t e 1 [EEE=E 64222 2skkksksickokk442 1 390
26 sy 3 WL 64222 2skkkskokskk 1815 1350
37 e 1 RiGEE 64032 Dskksksoiorn ] 323 450
38 Py 1 22 i 64222 2sskskskskokokok 1818 390
39 R 1 #HH T 64032 Lksketololkok 1 316 390
20 oy 1 25 A 64212 3skskssckskskok 316 450




41 e
= g gi ; jﬂﬁ 64032 seletstotsolok ] 318 390
I o - f;j% 642123kttt ] 341 900
¥ o : g; ﬂi/a 642123 x%kkkkk%2218 450
45 o - m m 64222 2%5kkkkkx4430 390
= o : E.Eé\/l 64032 kskskskokakook ] 31X 450
47 o - - iﬁi 640502kkkkkkx 3014 390
o e - ;L;j 64032 ksksiekekekokok [ 333 390
S o - Hﬁ};; 64222 2%kkskskkkx 1017 780
= o : ‘7_[: Z 5 64032 Lkskskiokokokk 1 327 900
= o - %%% 642123kttt 2226 390
- e - E}] 3252 64222 2kkskskokokok 1 827 390
2 o > EHQ$ 642222 kkkkk4% 1 859 390
= e : 5 {,ﬁ\z {i 64222 2%kkkkokokk 1 824 780
= o - K;E;% 64032 1skskskskskskekek 1 325 780
= e : %]&:— 64222 2%kkkckkkk | 82X 780
= o . %J,» i% 64212 3%kkskskskskskk] 369 390
= P . mii 64222 2%kkkckekkk 4225 390
= o . q:)? 75 64032 1skskskskskskokek 1 323 390
= e - E, m% 64212 3kkkkk0k0k% 1315 390
= o 2 %E& 64212 3kkkkk4k 222X 1020
o e : 5(5271;4; 6422228k k3040819 390
- o : 5 /ﬁ 64032 Iskkotokskkk 1 333 780
iy e 2 {; i]j 64222 2skkskkokokok 4453 900
- o - EE]F& 64222 2%kkkskskkk%]1 829 390
= e ; - % 64222 23kkkkkkk 1810 780
= o : g&ﬂ‘(: 64222 2%kkskskskkk%4225 780
o e . }ijzi%b 642123k 1 315 390
= o - g; E iy 64032 1 skkotokkx 1310 450
- e - ﬁﬁ% 64032 1otk | 324 390
" o - 25 Wi 64032 xskstsokekeksk 1 315 450
= e - iii 64032 1kskskskokorok ] 322 390
- o - %/;ﬁ\z H: 64212 3skkkkkokok 2] 22 780
2 o . s ;fi 64032 Isskkotokokork ] 329 390
s o . }7,% |—T 64212 3%kkskskskekekek 1 327 390
e e : %fﬂj 64212 3%kkskkkkk 1315 390
= o . 7237 64222 2kkskskskekekek 1 824 390
>z o - : ;Z gii 642222%kkkkkxx] 842 510
2 o . %&%; 64212 3%kskskskekk%2329 390
= o : EHF;Z 64222 2%kkkckkk 362X 390
- 8 ! 1 ; & 642222k 1814 390
> P - 1:S;K 64032 Lksksiiokokokk 1 337 780
= o - Bﬁ\{f 642222%kkkkkkx 1813 450
" o - %:\/ﬁ 640522kkkokokk 181 1 390
LN gt 642222%kkkk4k %1 828 900




85 HORE 2 L 64222 2skskskskskokek 1825 780
86 VR EE 1 Gras 2t 64032 Lsskskskskokkk 1 365 390
87 R 1 57 [ 64032 sk ] 314 390
88 VR R 1 k] 64212 3xskskskkekekk2229 390
89 i AR 1 7% B4 640502ksskskokskox 1 322 390
90 i R 1 ke 642222k xskxkkk%1 821 390
91 HORE 1 I 7555 642222k ] 824 390
92 R EE 3 IR 2% 64222 2skskkkekekk 1 822 1170
93 i AR 1 JE 415 642222k kkkk% 1823 390
94 R 1 L g 642222k skskokkok 1 823 390
95 R 1 oYl 640502k kkkkkkk3018 450
96 g | 1 B 640502skskskskskekekk 1 318 390
97 R 2 IEE 64032 1xkkkskskkk 1 352 900
98 gl | 1 JENiE 64212 3kskskskskokekk 328 390
99 HRE 1 o0& 64222 2skskskskokokek 1817 450
100 IR EE 1 KA 64222 2s%xkskskkkk 1824 390
101 o RAE 2 V2 64222 2%*kkkkk4k 1825 780
102 R EE 1 F NS 642222 kkkskkkek% 1 226 390
103 g | 2 25 64222 2%%kkkkk*4436 780
104 R 1 i 642222k skskokokk 4247 390
105 g 1 JE B e 64032 1xkskskokkkk 1332 450
106 R 1 AR 642123 %kkkk5%2219 450
107 R 2 RIS 64222 2skskskskssiok 1030 780
108 VR R 1 A 640522 skskskkekekk 181 1 390
109 i AR 1 A 640502tk 1318 390
110 IR EE 1 Y 642222 kkkkkkk 1 823 450
111 g 1 FB A 64032 1xkskskskkkk 1345 390
112 g | 1 =515 642222 k4kkkk% 1 82X 390
113 LA 1 FH e 64032 1sketoksictokook ] 322 450
114 R 1 ¥ 7t B 642222k skskkk% 1815 390
115 g | 1 OH®R 642222%kkkkk k%] 837 390
116 VR EE 2 IEES 642222%kkkkkx %1819 780
117 R R 1 A 642222k kskkskkx 4443 390
118 IR 1 FAE 64032 1sstokstetololk 1 345 450
119 o RAE 1 FELE 642222%*kkkkk4k 1823 390
120 IR EE 1 HARAE 64212 3kskskskkekekk 329 390
121 g 1 %75 95 642123xkkkkkk%k 1321 390
122 g | 2 WAL 64222 2kkskskskkx 183 1 780
123 i AR 1 TEa 642222k ] 82X 390
124 g | 2 s 64222 2% kkkkxk%1 818 780
125 IR 2 B2 642222 kkkskokk 181X 780
126 VR EE 1 gk e 6422223 kskskskkkk38 18 390
127 g 1 SR GE 64032 1xkskokskskknk ] 322 390
128 i R 1 At 6421234541 356 390




129 g 2 1 3 [ 642123 xkkkkxk%2217 780
130 VR EE 2 W KSE 64032 Isskktokkkx 1 363 780
131 g | 1 J&E 75 64212 3skkkokokokk 1321 390
132 R 2 Wy 642222k kskokkx 1 828 900
133 IR A 3 W hE 642222 kkkkkkkk 1 829 1230
134 i R 1 MTE 6405023k kk5%1 320 390
135 g | 1 2= M 642222%kkkkxx%0625 390
136 IR 2 FH 2 64222 2skksksekolok 1 846 780
137 LA 2 TR == 64050 2skkkskokekok 1 327 780
138 VR EE 1 B 75 1 64222 2%x4kk44k 1 82X 450
139 R 3 =14 640321 seksctotion] 326 1350
140 R 1 JEAS 64032 Lk 1 313 390
141 B O AH 1 HH $ 5% 6421 23%kkskkkk 1 322 390
142 R 2 AhE 64032 1kstorion] 32X 780
143 R 2 G iE % 642222kt 1814 780
144 AR 1 oK 754 64212 3%kkskskkkk 1325 390
145 WA 1 P4 64032 Dotk 1 312 450
146 R EE 1 G 64212 3kskkkkkok 1 322 450
147 i AR 1 oK 64032 Lkstkstotskor ] 340 390
148 R 2 AR 642222k k4414 780
149 R 1 ¥ &) 642222 kkokkok 1 839 390
150 R 1 g 640502k 1 327 390
151 R 2 K ) 64032 Dkttt ] 34X 780
152 VR R 1 FH Y5 642222343k 181X 390
153 g 1 IKIE TS 64212 3xkkkkkk%1323 390
154 IR EE 2 O H A 642222 kkkkkkx 1 812 780
155 i R 2 BIER 642222k 181 1 780
156 VR EE 1 kY 640502%kkkkkx% ] 36X 450
157 g | 1 H#51¢ 642222%kkkkkx%]1829 390
158 R AE 2 I tH: 3% 642222 %kxkkkk4418 780
159 HOREE 1 L 5K 6422225 k8481819 450
160 R 1 AR 64032 Lckskksioksok 1 314 450
161 g 1 X R 64212 3xkkkkkk41 327 390
162 VR R 2 2R 642222%kkkkkxx 1819 780
163 R 1 75 = 642222k k%1824 390
164 | 2 M AL 640321 sksksrk 1310 780
165 g 1 4 ERiE 64222 2% %kkkx4% 1821 390
166 VR EE 1 ENE 64212 3%kkkkkkx 1 334 450
167 i AR 1 HE2 642222k kkoakk 4218 450
168 VR EE 2 ih R 55 64032 1 skkotokokk 1320 780
169 R 1 o R 642222 kckokok 4428 450
170 R 1 Vg 52 64032 Lk ] 321 390
171 g 1 RSP VR 640321 xkkkkk4k1 326 450
172 i R 1 pisAN; 642222 %k xkkkk%4443 390




173 R 2 Ve s = 64032 1ssksksieiersrek 1318 780
174 g | 1 AHEE 64032 Lkeksokokoisk 1 323 390
175 H OREE 1 FHEEE 64032 I selettotsolok ] 327 390
176 IR 3 FH ML 64222 2skkkskokk 1 834 1530
177 A A 1 TK A 642222k xkkk%1 826 390
178 IR EE 1 ez tE 642123%kskskskckkx2213 390
179 R 1 e 64222 2%kkokkk 1815 390
180 R 1 AR S 642226k kol 225 390
181 i AR 1 Ttk 64032 Lokt ] 325 450
182 VR EE 2 i e 64222 2%kkkkk k%4429 780
183 g | 1 TF] 64032 [ kkkokkkx ] 328 390
184 Y UREE 1 25 5 64032 1xkkkskkxk 1 36X 450
185 g 1 1 4 [F 642123xkkkkk4%2215 450
186 VR R 1 JE 6405023 kkkkkk43023 390
187 IR ER 2 FH N5 64222 2skkskskokokek 1 838 780
188 IR EE 1 LwiEs 6421235k 1324 390
189 g} 1 H 2 fF 642222 kskksckkk 1816 390
190 R EE 1 I 5 6405025k 1316 390
191 i AR 1 TIOLEE 642123kt 323 390
192 DR EE 2 W38 75 642222%kkkkk k3828 780
193 R 1 =YCyid 642222k 4428 450
194 R 1 A 64032 Lkskskk 2629 390
195 g} 1 MR 64222 2skkckoksketok 1039 390
196 VR R 1 [ 642123%kskskskkkx2219 390
197 g 1 B IER 64222 2% kkkkkk%] 822 450
198 g | 3 KU e 64032 ] sektsketesokok ] 321 1530
199 i R 1 H XA AE 64222288441 820 450
200 R 1 &1t 642222 skk5k4%1815 390
201 Y IREAE 1 o 64222 2skkoksckokok | 844 390
202 R 2 NERns 642222k skt 1816 780
203 g | 1 JHR=E 64032 [ kkkokkkx 1 332 450
204 g | 1 L 6422224555k 1810 390
205 B IR AT 1 BT 1 64229 2% sk x5k x5k %082X 390
206 VR R 1 O 64222 2% k4kkk k%1 83X 450
207 g | 2 iU 64212 3kkkkokokkk 1327 780
208 i R 1 T 640502k 1 331 390
209 g 1 e 642222kkkkkx %4448 390
210 VR EE 1 2SR 64212 3%kskkkkokk 1 322 390
211 AR 2 ERAE] 64212 3skskskskkekokk 1319 780
212 g | 2 JE EH 64032 1xkkkkxk%1 334 1020
213 g} 1 M 514 642222 kskkskskok 181 1 450
214 g | 2 H & 64222 2%kkkkx4k004.3 780
215 g 1 I 220 642222 4kkkk4%1 821 390
216 B IR 2 A 64032 Lk 1 317 780




217 i R 1 KB 640502kt ] 323 390
218 R 1 JE IE 5 64032 1kt 330 390
219 g | 2 gl 5% 64032 1ok 1 31 1 900
220 VR R 2 LAy 64032 Lssksskskokrk 1 329 900
221 g | 1 ZsfpK 642222%kkk*kxxx1018 450
222 AR 1 £ R 64032 1kstotorrodk ] 327 390
223 g 1 1ERE 64032 Dkskkskokrdok 1 322 450
224 g | 1 {58 JE A 64032 1xkskskkkkk 1312 390
225 AR 1 FAEL 64212 3%k 2225 390
226 R 1 AE 2t 64032 1 kskctrn] 324 390
227 A 1 FAAE 64212 3skkksrtokokok 1 338 390
228 g | 1 [T 22 640321 skskskkkxx] 345 510
229 R 1 A3 o 64032 Dotk 1 317 390
230 R 1 BRI 642123 %K%k k%1324 450
231 R 1 JiJE= 64032 selettotoko ] 32X 450
232 IR EE 1 % B & 64222 2%k kkkx%%4219 390
233 AR 5 o6 H. 64222 2skkskokokk 4458 2550
234 R EE 2 S M o 642222%%%kkx%%1823 780
235 g 2 OEE 64222 2x%kk*kx4%081 1 900
236 DR EE 2 EF N A 64222 2%*kkkkk4k1 827 780
237 R 1 Wit 64222 2kkskkk 446X 390
238 R 1 T ETE 642222k kkkokkk 1 826 390
239 B A 2 fif 7 FE 64032 1 sksksorin] 314 780
240 VR R 1 K BH 6421 23%xkkkk4% 1331 390
241 i AR 2 gk 2 642123kt 221 1 780
242 AR 1 AE TSR 64212 3%kkskkk4k 1 368 390
243 i R 1 T 64032 Lokt 1 317 390
244 g | 2 HE R 642222 48kkk4%1 015 900
245 R 1 %7525 642123 ksctotion ] 46X 390
246 U EE 1 MEAr 642222%kkskskkx:0829 390
247 g | 1 K45 6421 23%kkkkkkx 1341 450
248 R 1 FH 23 642222k k454 1814 450
249 g | 1 HHE % 64222 2s%k5kkkkk 1 81X 390
250 R 1 WMo Bt 642222tk 1 023 390
251 g 1 R E] 64032 1xkskskokkkk ] 328 390
252 W R 1 IR ] == 642222k Kk k5% 1824 390
253 i R 2 Wia 642222k 1819 780
254 VR EE 1 I gt 64222 2% k4kkkx%] 84X 450
255 g 1 FH i 64222 2% %kkkx4%1814 390
256 R 1 fE AL 64212 3kskskskckokokok ] 332 450
257 i AR 1 E, 642222kt 1 812 390
258 VR EE 2 H = 5% 642222 kkkkkk%1 815 780
259 g 2 HY B 642222k k4kkkx%1 81X 780
260 VR R 1 1 56, 64212 3kkskskkekekk221 7 390




261 e 1 2 642123%sksksctokokok 1319 450
262 R 1 BEH 6422225kt sk 4 429 390
263 ey 1 K 64032 | skkksioksksk | 357 390
264 R4 1 FAEN 6421 23sskkkstksk3k 1 350 390
265 R 1 Fis 64212 3skteksksior 1 320 390
e oy 1 WG 64032 1skteksieokkk 327 390
3 Py 1 BT 7R 64032 Lsekskksiokskk 1310 390
>3 pyy 1 X 64222 2sskksksiskssk 1 040 390
269 oy 1 25 4T $f 64032 | skskksrokokok [ 312 390
70 pryEy 5 EEY 64222 2skkkskokskok 1 049 780
71 e 2 T i% 64050 2skkkssk30 10 900
7 Py 1 A 64212 3skkeksiekokkok 1 31X 390
NE ey 5 25 S 64032 | skkksiokokk 1 363 780
74 oy 2 2 642222kt 1810 900
575 T 2 BEF 11 642123%kskkokokok 1315 900
76 sy 1 252z 4 64032 1sksteksickkkok 1 31X 390
577 g 1 0L 642123tttk 1 321 390
578 pyy 1 % 64222 2skkskokskk 4419 390
79 oy 1 R 64050 2skskksiokokok 131 1 390
530 pryEy 1 =20 64032 Lskteksieokskk 1319 390
>81 e 1 Zs 642123tttk 1 317 450
282 R 2 o 73 ] 642123tk 1 31X 780
o83 Py 1 INF 64212 3skskskskskskokok 1 326 390
284 R4 1 FHEALG 642123kt k2222 390
S35 T 1 M 6421 23sktokskkk2220 390
o836 sy 1 H 22 T4 64222 2%skskokokokk [ 814 390
T3 Py 1 TRz 6422223kt 1 81X 1560
583 pyEy 5 O [ 64212 3skkkskokokok 1 313 780
589 e 1 IR 642222%kskskkkokok 1821 390
590 Py 3 T 64222 2skkkskokskok | 857 1350
o1 Py 1 e 64032 | skkskeksiokoksk [ 31 1 450
592 oy 1 2L 64032 1seskstksteksrsk ] 326 390
593 Py 5 x|z 64212 3skskskskskskskok 1 31 1 900
o4 pryEy 5 Ty 642222 ksskskkskskk 1813 900
295 T 2 HEFH 64222238k 1 82X 900
596 Py 1 ¥1aes 64222 2sskkskskk 1 814 450
597 g 2 JE e ae 642222%kskskkokokok 1827 780
598 pyEy 1 T 64032 | sesksktstokskk 1 326 390
599 R 1 P M 64222285k 1 829 390
200 proyy 3 v 64222 2skkkskokskk 1817 1350
301 e 1 FH 2 3% 64222 2skkskskkok 1 82X 450
202 Py 5 B 64032 [skteksieokkk | 322 900
203 Py 5 MED 64052 2skskskskskokokok 1 028 780
204 pryEy 1 O3 64222 2skkskokokk 1 818 390




305 g | 1 ME A 64222 2%%kkkkkx 1826 450
306 g | 1 X E R 64212 3skstskkskerk ] 14X 390
307 g 1 R AH 64032 1kkdokskkkk 1317 390
308 VR R 1 £ 64032 Lssksskskokrk 1 368 390
309 i AR 2 5 1 642222k 4433 900
310 i R 1 ¥k 642222k kkkk4%%1 816 390
311 g | 1 S5z 64032 1 skkkkokkx 1 32X 390
312 HORAE 1 L g 642222k | 244 390
313 g | 1 ih e 64032 1 skkkokkkx ] 338 390
314 B R4 1 NERES 642222kt 181X 450
315 R 2 S 642123 ksckctkk 1316 780
316 R 2 EENEN 642222k skskkk%1 815 900
317 g | 2 JE EIE 64222 2%kkkkkkx 1 818 900
318 gl | 1 FH 2 i 642222 kkkkk4% 1 826 450
319 R 1 HJ 1 642222k 1 829 390
320 i R 1 o 642222sksckkotokok ] 817 390
321 g 1 BBy 64212 3xkkkkx4%1 320 390
322 R 1 N2 6421 23ktkortior] 344 450
323 g | 1 G5 64222 2% % kkkkkx 1821 390
324 g | 1 4 K 64222 2s%xkskskk34k 1 820 390
325 g 2 KTy 64222 2% kkkkx%%4425 780
326 VR EE 1 =B 64032 1xkkkkkk41 328 450
327 B A 1 TK A 642123 %kskkkx1 344 450
328 R 1 JE 2 6421 23kskkkokk%222 1 390
329 g 1 s 640502%kkskkkk%1317 390
330 IR EE 1 FERE 64222 2skkskskskekekk 1812 390
331 o RAE 2 NI 64052 2%kkkkk4k44 38 780
332 VR EE 1 S 64032 skstsekerekk 1 316 390
333 HOREE 2 55> 6422225k kskkkk% 1826 780
334 R 2 F kit 642222k kxkk5%k% 1825 780
335 R 1 W75 4E 640321 seksctotior] 321 390
336 VR EE 1 FN=ES 64032 kskstsokereksk 1 347 390
337 g | 1 A7 64212 3skkkokokkk 1 313 390
338 R 1 2 64032 skttt 1 312 390
339 i AR 1 ESER 64222241 034 390
340 IR EE 1 5% 64222 2%kskskskckkx 1829 390
341 i R 1 HEE 642222888441 030 510
342 VR EE 1 {4 64032 Lssksksekokorok 332 390
343 g | 2 HERS 64222 2%%kkkk*x1816 780
344 R 1 S HAE 6421 23kskskonkon | 328 390
345 g 2 FH M X 64222 2% %kkkx4% 1811 780
346 A 1 B 64032 Ixsksonsork 1315 390
347 g 2 K EE 64212 3xkkkkkk4 1 329 900
348 VR R 2 KB 64032 sskkookokk ] 344 1020




349 B IR 1 &1t 642222k kkokkx 1 84X 390
350 g | 1 IKE 5t 64032 Lssksksksekekk 1316 390
351 o IREAR 1 X1 A 64212 3skksksksok 1 323 390
352 VR R 1 OER 642222%5kkkkkx 1816 390
353 B AH 1 Wk 642123 sksckoctokk 2116 390
354 IR EE 1 =) 64032 1kstotororodk ] 323 390
355 R 1 R 642222 ksckook 1813 450
356 B IRAR 3 X E e 642222skksksfekok ] 829 1170
357 HRAE 1 XA B 642123xkkskkx4% 1326 390
358 g | 1 R 642222%kskskskkkx 1813 390
359 R 2 T8 6421 23tttk 2210 780
360 Y UREE 2 Ik EAR 642123 xkkkkxk%1314 780
361 g 1 R 6422224k kkkkkx 1840 390
362 A 1 X 54 64032 skt 31 1 390
363 R 1 R 64212 3skekkotokok ] 345 390
364 IR EE 1 Wi 64050 2%k4kkk4% 1311 450
365 g} 1 AR 6422223 kskskkskskk 4413 390
366 R 2 ZE 642222k kkkkkk 1814 900
367 i AR 2 (% 642123%kskkkkx 1361 780
368 i R A 1 GrIba s 642222k kkorkox] 824 390
369 g 1 XY TH 642222%kkkkkkx 1 82X 390
370 VR EE 1 A5 Mg 64032 Isskktokokkk ] 328 390
371 g 2 VA 6422224 kkkkkxx 182X 780
372 VR R 1 A 64212 3%kskkskokkk 1 323 390
373 i AR 1 iR 64032 Lsskskonion ] 328 390
374 i R 1 H Z 1 642222k kktoor ] 822 390
375 i R 1 Jaii 37 {F 64222 2kkskskox ] 82X 450
376 VR EE 1 ooz 64222255k 181 1 390
377 LA 1 X DT 64222 2skkokskskok 1810 390
378 HORAE 1 FrEE 64032 1tttk ] 320 450
379 g 2 FH fifr 640502%kkskkkkx 1 330 780
380 g | 2 BInEZ 642123 k4kkkk4k1 34 1 780
381 R 3 TKIEF 6421 23sksksorkok ] 31X 1170
382 VR R 1 RS 64212385k 1321 390
383 g 2 I 64032 [ sskskotolokokr | 33X 780
384 IR EE 2 KT 642123%%kkkkk%1318 780
385 i R 2 R 64032 Lkt ] 325 780
386 i R A 2 H &% 642222tttk 812 900
387 g | 1 Z9E X 640502skkkkkkkk 1313 390
388 VR EE 1 25 FEAE 64032 Lskskkokrk 1 325 390
389 i AR 1 TKIELL 64032 seksctorior] 319 390
390 VR EE 2 H E 17 642222 kkkkkkx 1817 780
391 g 1 VN 640321 sskkokokokokx 1324 450
392 i R AE 1 TR 6421 23tttk 2210 390




393 A 2 T HIE 64222 2skkeksckokok [ 814 900
394 VR EE 2 o5 6421 23%kskkkkkx1 313 780
395 g 1 I 220 640324 k4kkk k%264 X 390
396 VR R 2 HH AL 64222 2%*kkkkk4k 1813 1020
397 i AR 1 21053 642222k 4425 450
398 i R 1 B 6421 23skscksotokok ] 336 390
399 o RAE 1 FH N e 642222%*kkkkk4k 1812 390
400 R EE 1 FH 165 642222kt 1 834 390
401 g 1 K IEE 64212 3xkkkkkk%1 322 390
402 VR EE 1 XG5 642222%kkkkkkx 1 02X 510
403 B R 1 HEAE 642222 kkkkokk 1827 390
404 Y UREE 2 B A 64032 1kskotoktnk 1316 780
405 g | 2 sV 64032 I sskkotokokork 312 900
406 VR R 1 FNEHI 64032 xskstsoksreksk 1 317 390
407 R 1 T 2% 642222k 1 828 450
408 IR EE 1 K I 64032 Iskeksskokotk 1313 390
409 i AR 1 AL 64032 [ksksnskin 1331 390
410 R EE 2 64222 2skkskskkkekk 1817 900
411 i AR 1 W 75 o 64032 Lkstkstotskor] 320 390
412 R 2 HH 642222k xkkkk%1 83X 900
413 g 1 FH S & 64222 2% %kkkx4% 181 1 390
414 R 2 S HE 6421 23kskskonkon ] 327 900
415 g 1 HE = 64222 2%tttk 1 842 390
416 HORE 1 N N 64032 skkkeiekokoek 1318 390
417 g 2 Xl 272 64032 1xkskskkkkk 1334 780
418 IR EE 1 TS 64032 sksksiskereksk 1 332 390
419 i R 1 2% [ 3% 64222 2kkskskox ] 82X 390
420 R 1 =575 6421 23ktkorkiok] 326 390
421 HRAE 2 O/NE 64222 2kxkkkkkk 181X 780
422 R 1 Wi 642123k 1 321 450
423 g 2 ENEYN 64032 1xkskkskkxk ] 33X 900
424 g | 4 FEFH 64222 2%k4kkk4k1 824 1560
425 i R 1 L i 6405025kskk5%3016 450
426 R4 2 T%rn 642222 kkksrckkok | 83X 780
427 g | 1 HH & 6422224k kkkkkx 1834 390
428 i R 2 S 4t 64032 Lk | 32X 900
429 i R 1 FKAL 4 64032 Lssksoksorion 1 312 390
430 VR EE 1 gk K R 6422223 kskskskskekk 1 848 390
431 g | 1 JE KA 642222%kkkkkxx1022 390
432 VR EE 2 B 64212 3kskskskskekekk 1 362 900
433 g 2 T A 64222 2% kkkkkk%1 842 780
434 VR EE 2 % 25 6421 23%xskkkk% 131X 780
435 o LA 2 BEA2 64222 2skksktokkok 1 833 900
436 i R 1 gk rp it 64032 skttt 1 315 390




437 g 2 Wsros 64212 3xkkkkx4% 1 344 780
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1266 VR EE 2 5K 75 64032 [ sskkookokk 1 321 780
1267 LA 1 Xt 2 64032 1sktoksictokokk 1 317 390
1268 VR EE 1 =S 2 64032 Lskskkokrk 1 325 390
1269 i AR 1 AL 640502kt 1314 390
1270 HORAE 1 I, 2 g 64222 2skkkkokokok 182 1 450
1271 g 1 AL 642123%kskkkkx%1 348 450
1272 gl | 1 PEE 642222%kkkkk k%3665 390




1273 g | 2 2205 7 64222 2%%kkkkxx1026 1020
1274 g | 1 FREREF 64032 1xkskskkxk%1318 450
1275 B O AH 2 TR 64050 2skksktskok ] 323 780
1276 VR R 1 =51 642222 kkkkk4k 1 840 390
1277 g 2 EAERR 6421 23xkkkkkk%1337 780
1278 | 2 KR 642123kskokkokk 1314 780
1279 g 2 K ¥ 64222 2% kkkkx4% 1824 780
1280 R 1 FE 642222k kskk% 1826 390
1281 HRAE 1 FEE 640502%*k4kkk4k302 1 450
1282 VR EE 1 A 642222%K4kkk%%1 822 450
1283 R 1 HETTEE | 640502skkm0ki00k]1 340 390
1284 Y UREE 2 LT 642222 kkkkkx% 1 825 780
1285 B O AH 3 F 4 640502 kkskkskk3020 1350
1286 gl | 1 i 640321 xkskkkkkk 1361 450
1287 A A 1 AR 642123 %k sk x55%22 16 390
1288 IR EE 2 iR 64032 Ikskokokkoiok ] 38X 780
1289 g 2 B e atE 64222 2xkkkkx%%2045 780
1290 g | 1 M 7545 64032 1xkskkskkk4] 328 450
1291 HRAE 1 it R 2R 6421 23%kxkkkkk 1321 390
1292 R 1 OE%E 642222k sk 443X 390
1293 HRAE 2 = = 64032 [ kkskskskxsk 1323 900
1294 R 1 M7 64032 [ ksksksiesiekskok 1 325 450
1295 g | 2 L Znpia 64222 2%kkskkkkk ] 847 780
1296 W R 1 =i 6421 23skdskdsreskk 221X 450
1297 g 1 2= 3k i 642222%4kkkx4%1016 390
1298 R 2 EEES 642222 kkdokkokk 1819 780
1299 B R 2 XI| A 6405225k 1 828 780
1300 VR EE 1 % 642222 4kkkk4% 1810 390
1301 HRAE 2 EEES 64032 [ kkskskkkkk2221 780
1302 U EE 1 R e 64032 Iskkokokokkk ] 347 390
1303 HRAE 1 s 62042 [ kxskskkxkk4 126 390
1304 VR EE 2 Ly 642222%%%kkx%%1 838 780
1305 B A 2 S HIE 642222 %k kkkkx1813 780
1306 gl | 2 A il gk 642123 xkkkkkk%1 312 900
1307 o RAE 1 =i 642222+ 4kkkkk 1825 390
1308 IR EE 1 RER 2L 642123 xkkkkx%%1 321 390
1309 o RAE 1 I g gl 640502skkskskskskkk 3017 450
1310 WA 2 [ L 642123kl k2210 1020
1311 i AR 1 Tk IR 6421 23kskskokn ] 32X 390
1312 g | 1 FH 388 2% 64222 2%kkkkkkk 1825 390
1313 i AR 2 AR 642222kt 1 812 780
1314 B R4 3 FH XU 6405225ksksskoskok ] 012 1170
1315 B I AH 1 2545 il 64032 1skekskoteskok ] 339 390
1316 gl | 1 FHHER 642123 %4kkkk4% 131 1 390




1317 R 1 X% 7 640321 ksctotior]1 310 390
1318 VR EE 1 E#H 642222 K8kkk4%4429 390
1319 g | 1 AL 642123%kkskkkkx 1317 390
1320 B 1 fif (5 JI5q 64032 skttt 1 312 450
1321 o RAE 1 2 L3 64032 1 kxsskskskskk ] 34X 390
1322 IR EE 1 {a] R ZE 64032 1 sskskskskkkxk 1315 390
1323 o RAE 1 e 642222k kkkkx%% 1818 390
1324 B IRAR 2 ZEIEIL 64212 3skksktkotokok 1316 780
1325 g 2 LY 64222 2% %kkkx4%1220 900
1326 VR EE 1 L 64222 2%k%kkkx% ] 82X 390
1327 g | 1 VA 642123k 1330 390
1328 Y UREE 1 Zs g2 64222 2% %kkkx%% 1 844 390
1329 B IR AT 2 X EHE 64032 Lkstskotskotokok ] 314 780
1330 VR R 1 JE 1E &) 64032 kstotorartor ] 345 390
1331 g 1 IR 64032 1xkskkokrkk 1317 510
1332 IR EE 1 AR A 64032 1xkskkkkk%1312 390
1333 o RAE 1 051 64222 244kkk4% 1826 390
1334 R EE 1 =SS 6421 23%kkkkkx4k221 2 390
1335 i AR 2 S 642222k k% 1 865 780
1336 DR EE 2 SARANS 64222 2%k k%% k4% 3817 900
1337 AR 2 K L 64222 23kskskskokokok 1 822 780
1338 R 1 M AL 642222 skskotokk 4415 390
1339 g | 1 2E 64032 [ sskkolokokk 1316 450
1340 W R 1 HH A 64222 2skskotsiokk 103 1 450
1341 g 1 FH 7K &= 64032 1xkskskkkkk1315 450
1342 IR EE 1 OHR 64222 2%k kkkxk%1817 390
1343 i R 1 PIE= 6421 23kskskorkn ] 325 390
1344 HORAE 2 w1 64032 1skeksiekekeek 1319 900
1345 WA 1 FH S 640502sksksokokk 301 4 390
1346 o R 1 HEZAE 642222 kkkskskk 1824 450
1347 g | 1 K7y 38 64032 1 skkkokkkx 1318 390
1348 VR EE 1 ESS N 64032 1x%kkkx4%1 326 450
1349 g 1 fif] 4> 34 6421 23%kkkkkkx 1 36X 390
1350 R 1 BHE = 64222 2%55kkkkkx 1820 390
1351 i AR 2 R HN 64032 Lssksoksonson 1 318 780
1352 s | 2 B AR 6421 23skskkstootokk 005X 780
1353 g 1 WRAETH 640502%kkkkkk%]1318 390
1354 VR EE 1 J& A W 640502%%3kkkx%%3026 390
1355 LA 1 HH A 64222 2skkskokkok 1 833 390
1356 IR 1 H 44 64222 2skkkskokokek 4429 390
1357 i AR 1 2 642222kt 1 821 390
1358 VR EE 1 ok JR 2 64032 1 kkkskskkik 1329 390
1359 g | 2 FH A 64222 2%kkkkkkk 181 1 780
1360 B IR AH 1 kI 640502kskskk%1310 450




1361 g | 1 THHTE 642123%kkkkkkx 1336 390
1362 VR EE 1 BIBGE 64050 2%kkkkx4k 1 328 450
1363 B IR AT 1 HEZR 64032 [ skstkotkotokok 1 319 390
1364 VR R 1 KN 64212 3xskskskkekekek 1 349 390
1365 R 1 [tk 21 64222 2skksktkk 4433 390
1366 IR EE 1 L= 642222 kkkkkkk 1 823 390
1367 o RAE 1 [ 5 64222 2kskskswkkkk44 14 450
1368 R 1 H XA 6422225k 181 1 450
1369 g 2 oK £ 3% 64032 Dksksokokkdok 1346 780
1370 R 1 H £ 1% 640502sksckskotokok ] 319 390
1371 g | 1 {d] F A 642123%kkkkkx%]1 329 390
1372 Y UREE 1 PNk E 64032 Dkskskskokrkok 1328 450
1373 g | 1 A 642222%kkkkkkk 1813 390
1374 B 1 FiAE 6421 23skkskkokokokk 2228 390
1375 i RAE 2 T EE 6421 23%kkkkkx4% 2240 780
1376 AR 1 il 3% 642123kt ] 325 390
1377 g 3 %758 64032 1xkskskskkkk 1528 1170
1378 B IRAR 1 FH 33 R 64222 2skkskskokskox 1 81X 390
1379 g 1 i 640522%k4kkx%%3825 390
1380 R 2 ESEL 642123skkkkorkon 1 31X 900
1381 g | 2 JE 25 Hap 640502%kkkkxxx3028 780
1382 VR EE 1 BB 64032 1 sskskskskokokk 1 320 390
1383 B O AH 1 LEZ 64032 stttk ] 324 390
1384 B R 1 fif] 132 64032 kst ] 328 390
1385 R 1 RN 6421 23skkekokk 2214 390
1386 B R 1 FET 642222k 1825 390
1387 g 2 JE IR 642123xkkkkx4%2214 780
1388 VR EE 1 e T 64032 1xkkkkkkk 1327 450
1389 R 1 FRIEE 64032 Lkttt 1316 390
1390 g | 1 % A F5 642222 K5kkk4% 1 829 390
1391 i R 2 F I 642222k xskkkkx 181 1 900
1392 R 1 ok 642222k skskkk% 1 829 390
1393 B I AH 1 B F g 64032 Lkskskotkk ] 357 510
1394 VR R 1 J& 7 64032 1skstsokskerk 32X 390
1395 B LA 2 M= 642222k kkkkkk%1 844 780
1396 IR EE 1 MIES 64032 Lsskssskskrk 1 317 390
1397 o RAE 1 7 64222 2%kkkkx%% 1819 390
1398 WA 5 = 64222 2skskeksiekk 4420 1950
1399 g | 2 Y Ta YN 64222 2%kkkkkkx 441X 780
1400 R 1 ARLENASS 64222 2sksesksskotskk 4457 390
1401 i AR 2 /8 L 642222k 4419 780
1402 AR 2 FH 2 BH 6422224 kkkkk0kk 81X 780
1403 g 1 JEJK 77 640321 xkskkkx4%1 324 390
1404 VR R 2 ARt 64222 2kxkkk k%% 442X 780




1405 g 1 INBAE 64032 1xkkkkokrk ] 32X 390
1406 WA 1 ISR 640502kt 1 329 390
1407 g | 1 JE 25K 64222 2%5kkkkk% 1820 390
1408 gy | 2 £BH1E 64222 2%kkkkkkk181 1 900
1409 i AR 2 Ui s 642222kskctkok 1814 780
1410 IR EE 1 JE 2 64032 sksksisoksreksk ] 348 390
1411 o RAE 1 4 A 6421 23%kkkskkx4k 1 348 390
1412 WA 2 KT 64032 Lskksokosiokk 1 354 780
1413 i AR 1 ¥ i 642222k 4415 390
1414 VR EE 1 2R PRSE 642123 %kkskkdokk 1 3922 390
1415 g 1 7 R B 640502%kkskkkk%] 328 450
1416 WO AE 1 BEES 642222k kkakk 1812 390
1417 B A 2 ¥ 8 B 642222k kK xA4 13 900
1418 HOREE 1 g )L 6422225 %skskksk% 4464 390
1419 i RAE 2 K 642222 4kkkkdkk 1 827 780
1420 IR EE 1 L6AE 642222 4kkkk4% 1 820 390
1421 i AR 1 Bir 64032 Lokt ] 335 390
1422 R 2 A9 6421 23ksetketon] 31X 900
1423 R 1 B IR 640502 ksckotkor1 313 390
1424 g | 1 WHEHE 64032 1 kkkskskkik 1327 450
1425 g | 3 JE SC 64222 2% %kkkkkx 1814 1170
1426 g | 1 I o 642222 %kkkkxx%]1815 390
1427 g 2 Y ik 64222 2%kkkkxxx 1817 900
1428 R 1 YOS 64032 1 ssksktetsiekk 1315 450
1429 i AR 2 Ll ] 642222 ksctkotiox ] 81X 780
1430 IR EE 1 ¥EOE 5 642123 skkdkokdokk 1 328 450
1431 i R 2 RN L 642123kskkoakk 1319 900
1432 R 1 4> 1 642222k kkork0k1 836 450
1433 g | 2 2T 642222%kkkkkx%]1825 780
1434 U EE 1 ] 64222 2%k k%% x4% 1865 390
1435 HRAE 1 I S5 64032 [ kkkskkxkk 1328 390
1436 VR EE 2 TR 64032 skokookokk 1 324 780
1437 PR EHE 1 FEE 642123k 1923 390
1438 R 3 AR 642123%kskskkkk% 1319 1350
1439 i AR 2 ML 64032 Lokt 318 780
1440 W AR 1 NER RS 640502kt ] 361 390
1441 g | 2 KT 64032 [ kskkokkkx 1323 780
1442 g | 1 JE 642123%kkkkkx%2213 450
1443 B IR AT 2 H XA 642222k kkokkx 1 828 780
1444 VR EE 2 I H g 642222 %kkkkxkk%1021 900
1445 i AR 2 o Hg 642222kt ] 828 780
1446 VR EE 1 FH 3 6422223 kkskkkekekk 1812 390
1447 B AH 1 T 642123kt ] 32X 390
1448 R 1 5T 642222tk 181 1 390




1449 i R 2 S 642123kt 342 900
1450 HORAE 2 i 64222 23%kkkkkkx 1813 780
1451 R 1 gk AE 642123k 1 31X 390
1452 gy | 1 PN 64212 3s%kkkkkx%2215 390
1453 g | 1 ERFE AR 64032 1 kskokokkkx 1327 390
1454 i R 1 XL 640502kttt 1 325 390
1455 o RAE 1 o E xR 6421 23%kkkskkkkk 1317 390
1456 R EE 2 0 bR 64032 Iskkkokkkx 1315 780
1457 R 1 &L 642222kkctkk 1810 390
1458 VR EE 1 O 64222 2%kskkskkx% 1819 390
1459 B IR AH 1 ARk 64032 Lkkskotkk 1 318 450
1460 g | 1 5 4) 6422225k kkkxx%1819 390
1461 B O AH 2 fif] (5 I 64032 1 sskkektsokk ] 334 780
1462 VR R 1 =R/ 64032 Lkstotorardr ] 323 390
1463 R 1 &N 642123kl 318 390
1464 AR 1 K2 64032 koo ] 329 390
1465 o RAE 1 FIINRES 6421 23%kkkkx34k 1 340 450
1466 R EE 1 ox 64222 2%kskkk4% 1815 390
1467 HRAE 1 2 5Kk AR 642221 kkdkk% 43936 450
1468 R 1 L Eh 642123 skstotokok ] 323 390
1469 g 1 JE IR AR 6421 23xkkkkx%%2216 390
1470 g | 2 Y57 640321 sskskkkkx 1321 780
1471 R 2 B ES 64032 1 stk 272 1 900
1472 B IR AH 1 X EETE 64032 skttt ] 381 390
1473 i AR 2 k= F 642123 kkktkonkon] 314 900
1474 i R 1 ESV00) 64032 1 stttk ] 346 390
1475 i R 1 TR 6421 23kskskonkn] 327 390
1476 VR EE 2 W5 % 64032 sk [ 318 780
1477 g | 1 2 R 642123%kkkkkkx 1324 390
1478 g | 1 K HE 640321 skskskkkxx 1 322 390
1479 R 2 ] 640321 ksctootion] 324 900
1480 g | 1 SEE 64050255k x% 301X 390
1481 g | 1 B4 64032 Isektotokokork 312 390
1482 VR R 2 == 642123sskskskskskkx 221 | 780
1483 iR 1 H A 640502k skksk5%1313 390
1484 s | 1 =Y 64032 ] sekokskotekon ] 328 450
1485 i R 1 = 64032 Lkttt 1310 390
1486 g | 1 WAL 640502%kkskkkkk 1313 450
1487 HRAE 2 LE® 6421 23%kkkkkx4k 1 362 780
1488 R 2 R 6421 23skscksotokok ] 326 900
1489 i AR 1 HH fi 52 642222k xkkkkx 181 1 390
1490 g | 1 7K B 640321 sskskskkkx 1330 390
1491 g | 1 B R 64032 1xksksiekketk 1 326 450
1492 B IR 1 Tt 64222 2sskkskctokok ] 824 390




1493 HRAE 1 YRR 640321 skskskskdokk 1 31X 390
1494 VR EE 2 Zs B 64222 2% kkkkxk%4217 780
1495 B IR AT 1 1] R 3% 64032 1 ks ] 320 390
1496 gy | 1 FREE A 640321 sskkskkkkx 1376 390
1497 o RAE 1 N 642222k k8% % 1 824 390
1498 AR 1 % N AR 642222%4kkk k44416 450
1499 g} 1 HH A AR 642222 kkkkkskkk 1 829 390
1500 g | 1 25 Ay 640321 skskskkkxx 1323 390
1501 g | 2 £ fih 2 64222 23kkskkkokk 181X 780
1502 VR EE 1 IKFE 64032 1 sskskskskokokk 1 326 390
1503 g | 2 51 642123%kkkkkx%2218 900
1504 Y UREE 1 2553 Y 64222255k 1034 390
1505 W R 2 HEERE 6421 23skketskotiokok ] 328 1020
1506 WA 1 fify) (515 64032 1 skkototok 1 310 390
1507 i RAE 2 % 64222 2%kkkkkx4% 1 838 900
1508 g | 1 ZIEE 642222k skskxkx1013 390
1509 o IRER 1 F R T 642123kl ] 32X 390
1510 WA 2 Z&E 6421 23sskksksteekk 1 317 780
1511 g | 1 ih R 64032 1 skkkkkxx1319 390
1512 R 1 0 E 8 64222 2skkoksokkok 1034 390
1513 B AT 1 FH % 3t 642222k kkokkox 1 822 450
1514 VR EE 3 L/NE 64222 2%*kkkkx4k 1827 1350
1515 HRAE 1 = 6421 23%kkkkkx%%2125 390
1516 R 2 = 6421 23skeksctookok 1346 780
1517 o RAE 1 J& 15 640502%*kskskkek4k 1314 450
1518 IR EE 2 DA 6405025kkskskskskkx 1 328 780
1519 i R 2 A2t 6421 23kkkstkotkon] 326 780
1520 VR EE 1 LAY 642222%%%kkxk%1 822 450
1521 i AR 2 Ty 642222k 1 821 780
1522 U EE 1 5 SE 64212 3kkkkkkx2217 390
1523 g 1 SR 64032 1xkskskokkkk 1332 390
1524 R 1 57 642123kttt 1 320 390
1525 R 2 Foh3E 64222 2skkskkokokok 4469 780
1526 B 1 T EERE R m 390
1527 o RAE 1 I, 3 B 640502%*kkkkx%%3018 390
1528 AR 2 R 64032 1kkkkkkrk 1313 780
1529 i R 2 SEE 642222kktk 1830 780
1530 VR EE 1 g 1 E R 64032 1 kkskskskksk 1313 390
1531 HRAE 1 Faa==dl 642222k xkkkx%% 1 834 390
1532 g | 1 2R 640321 skskskkkxx1319 390
1533 g} 1 A4 64222 2skstsikskok [ 22X 390
1534 VR EE 1 A 64222 2kkkkkx4%4425 390
1535 R 2 R4t 6422223k ] 824 780
1536 VR R 1 FEFH 6422223 k4kkkk4k 1 82X 450




1537 g 2 X B 64222 2% %kkkx4%1 811 900
1538 VR EE 1 Lg% 64222 2% %kk*kx%%1816 390
1539 g 1 B X 642222%K4kkkk%1 818 390
1540 VR R 1 PINL 64212 3%kkkkkkx 1313 510
1541 g 1 R 64032 [tk | 317 390
1542 IR EE 1 N N 642123 %kt ] 332 390
1543 g 2 RS 64222244 kkkkkx 1826 780
1544 R EE 2 ==} 642123 xkkkkkk%1 318 900
1545 g 1 ¥ CH 640502%kkkkkkk 1315 390
1546 B R4 1 &L 642222skksktookok 1 814 450
1547 g | 1 FUEE 640321 #skkkokkx 1320 390
1548 Y UREE 2 i 642222%kkkkk k%1819 780
1549 R 1 L 642222k kkkkx4k 1 822 390
1550 VR R 1 J& SCRH 64222 2s%xkkskk4% 1816 390
1551 g 1 7K B 642123 xkkkkkk%1313 390
1552 IR EE 1 N A 64222 2%k%kkx%%1219 390
1553 B R 2 FH X558 64222 2skskkokskok 1817 780
1554 B IRAR 1 HH XA 642222skkskkiokk 1816 450
1555 HRAE 1 /N E 64222 2kkkkskk4k 1821 390
1556 g | 1 11t 5 6422225k kkk k% %4495 390
1557 LA 1 X 64032 1sktoksictokkok 1 327 390
1558 g | 1 SRR X 64032 skskskkkxx 1313 390
1559 B O AH 1 IR 64032 1kt 1319 390
1560 VR R 1 PINEEZE 642123%kkkkk4% 1316 390
1561 i AR 2 fFFETE 642222kt 1 823 780
1562 IR EE 2 e 64212 3kskkokkkok ] 322 900
1563 o RAE 1 = 6421 23%kkkkx345k 1 340 390
1564 VR EE 1 5k 64212 3xkskskkokekk 1318 390
1565 R 1 A 6421 23kttt 2228 390
1566 U EE 1 iy 64222 2s%kkskk34k 1 860 390
1567 i R 2 2R AN 640502%k#kkk5%1315 900
1568 VR EE 1 LI o 2 640502skskskskekskok 1 32X 390
1569 g | 2 M3 64222 2%kkskkkk% 1 828 780
1570 B 1 HXE 64222254541 810 390
1571 o RAE 1 X752 64032 1 sksksksieksksk:k (0942 450
1572 IR EE 1 Zs /> 0m 640502%k5kkx%%3017 390
1573 o RAE 1 =, 642222k xkkkx%% 1815 390
1574 VR EE 1 JE £ 640321 sskskskkokk 1327 390
1575 HRAE 1 O E R 64222 2%kxkkkx4% 1 840 390
1576 VR EE 2 R 64032 1 sskkolokokx 1326 780
1577 R 1 [ 6405025k 1 338 390
1578 R 1 ¥ Av 6422225tttk 1 827 390
1579 g | 1 2 V0 $H 640502kkkekkkk 1315 390
1580 B IR 5 )& 64222 2skksklkok ] 818 1950




1581 HRAE 1 =N 64222 2:+4kkk4 1 880 390
1582 VR EE 1 =Yg 64212 3skkkkkkx] 328 390
1583 R 1 P 64032 [ kkskskkkskk 1321 450
1584 R 1 fiE £ 2% 64032 | kkxkkkk ] 323 390
1585 g | 3 =k 64032 1 skkkkkxx]1315 1350
1586 IR EE 2 75 64222 2% kkkkkkx 1 827 780
1587 g 1 KA 64032 1xkskskokkkk1318 390
1588 R EE 1 ok 3R 64032 1 kkkskkxik 1325 390
1589 g} 1 X E 64212 3skskkskskoksk k2219 450
1590 B R4 2 EES 64052 2skskskstskotokok ] 823 780
1591 g | 1 £ kY 640502%kkkskkkx] 342 450
1592 Y UREE 1 K 642222%5kkkkkx 181 1 390
1593 B O AH 1 R 64032 Lkttt ] 322 450
1594 VR R 1 JEF =R 64032 [ sskkokokkxx 1317 450
1595 i RAE 2 oHZE 64222 2%kxkkkk%% 1821 780
1596 IR EE 1 R TR 642123kskkokkkk 1313 390
1597 o RAE 1 AETEE 64032 [ kkskskokksk 1323 390
1598 R EE 1 gk R Ae 6421 23%xkkkx4k 1 324 390
1599 g | 1 BEREE 64032 [ skkkokkxx] 328 450
1600 g | 1 295012 640321 xkkkkkkk ] 324 390
1601 R 2 =V 642222 kkotox ] 828 900
1602 B R4 1 HE il 64222 2sskstkotokok 1815 390
1603 g | 1 JE R 64212 3%kkkkkkx 1310 390
1604 VR R 2 Vet 64032 1 kkkskskksk 2612 780
1605 i AR 1 = 642123 kkktkonkon] 314 390
1606 IR EE 1 Ry EE 64032 I kkskkkiok 1 346 390
1607 i R 2 75 2 B 6421 23kskskorkn] 323 780
1608 VR EE 1 Vi 64032 skstotororkr ] 327 390
1609 g | 1 W75 64032 [ kkkokkxx ] 328 390
1610 g | 2 TRERET 64050 2%kkkkk%% 1320 780
1611 HRAE 1 T ML 640502kxkskkk3%kk 1 34X 390
1612 R 2 FH b 522 64222 2skkksickkok 82X 780
1613 R 1 IR AR 642123kskskskn ] 31X 450
1614 VR R 1 B4 640321 skskskkdok k221X 450
1615 o RAE 1 kR 64032 [ kkskskskkksk 1327 390
1616 R 1 FH ik B 642222 skkkskok 1020 450
1617 g} 1 FH XA 640522 kkkkkskokk | 827 390
1618 VR EE 2 [ tHAE 64222 2kkskskskkx k4423 780
1619 g 1 LRy 642222%kkkkkx %1833 390
1620 VR EE 2 X7 sk 64032 1 kkskkkxkk 1310 900
1621 i AR 2 ¥ N HE 642222k 4419 900
1622 R 2 75> 642222k kskkokkkok 1828 780
1623 g | 2 25 X 642222%kkkkkkx1 023 780
1624 gl | 1 &M 64222 2s%xkskskkkk 1824 390




1625 i
o ggg i Eﬂ?@f; 64032 1xskststokoreksk 1 327 780
626 s 1 EHQM 64222 2%kkkkkk k1012 390
o2 I - i At 6422223k 0k 1 822 390
ez s 2 ;fﬁg 64222 2skkskskskekekk 1 827 900
o2 e 2 %E\% 64032 Lsekotortolk 1337 780
e o : ;£$ 642222%%kkkx4%1 811 1800
— e 2 ;9%1? 64212 3kskksokokk 1 312 780
1632 s 1 A§i 64032 1skkkkkokok ] 342 390
— I 1 ﬁui$ = 64032 [iokksiork 1311 390
b LI : 73,}:;] ;fi 640502 kkkkk42819 450
e e : ;\;Z@ 64032 stttk ] 363 390
s LI 1 g Al 64222 2%kkskskkkk421 2 450
1037 I . - ﬁﬁ 64212 3%ktckkko4k 2216 390
1638 e - ﬁ;.ij; 64032 Lsskssekskerok 1 345 450
1039 e . z)(:mi 64212 3skkkskksiokk 1 316 390
1640 s 1 /nf 6421 23%kskskokekkok 1317 390
o4 e : Ei{@i 64050 2%k4kkkotk 1 321 390
1o I - %%;ngz 64212 Ttk 262X 390
1o e : %;éi% 64212 3skkskskksiokk 1 325 390
et s 1 g{/"ﬁ;ﬁ 64032 1xskstsokekekk 2225 390
1o e - /\ﬁ—»_iiﬁi 64032 Leleietsiolok 1319 450
L4t s : gé i 64212 3kskskskskokekk 1 332 900
1o I . 2 iﬁk 64052 2%kxkkkkk 381X 390
Leas s 1 E/\’}i% 64222 2skskskskekekk 1 818 390
1o e - g{/‘é% 64222 2%kkkksk40k 1 812 390
1650 s : A K 64032 skttt 1 31X 900
o e = _’/7’\ 0 64212 3skkkskksiokk 1 316 1350
o LI : }%/ﬁz 642222%ksksckokok 4461 390
1053 e - }%{T;ﬁ 64222 2skkkskskskskk 1 827 450
Lo o : B;;i 64212 3%kkkkk4k1 325 780
o e : ,E:’{; 64032 Iektskokatotok 1 324 390
1656 s 1 %ﬁ 642222 kkskskskkekk 121 1 390
. o k ﬁ,i: 64212 34kkskekedokek | 38X 390
1658 e - H M 642123 sksksokx 1312 780
o s - ;;J%EE 64212 3xkskkkkk6221 3 390
b LI 2 7 i, \‘JL 64052 2skskskskskskokok(0224 780
wer e - ?;}\% 642222 kkkk4%44 36 390
b LI : g¢$i 64212 3kskkkkkk ] 348 780
s e : m/;:.—r; 6422223 kkk4x1 812 780
o o - Z:/]; =1 64032 1 skokookork ] 34X 390
o e : ?Zﬁk 64032 skskstskoksieskk 1 315 390
e LI > ;zﬁé 642222%ksksckokok4 4] | 1170
067 s 1 %;E 1H 642222 4kskkk4k441 1 450
75 64222 2%kkskskskokk 1824 390




1669 g 1 BT Fi 640502 kkkkkckk41 317 450
1670 IR 1 B 758 642123swickokokokok [ 346 390
1671 g 2 = 64212 3%ktckkatotok 1314 780
1672 VR R 2 %4 64032 1xkskskkxkk131 1 900
1673 o RAE 1 S 64212 3xHskkekktok 1 321 390
1674 SR 1 H 75 6422225k k%4482 390
1675 g 1 =9 64032 1xkskskkxk%1 336 390
1676 B IRAR 2 EREPN 64222 2sssktskotokk 1819 780
1677 g | 2 72 64222 2%kkkkkkk 1812 900
1678 g | 2 O 45 64222 2%kskskskskkk 183X 780
1679 HRAE 1 J&/NEE 6422224k 1863 390
1680 g | 1 Atk 642222%K5kkk4% 1 814 390
1681 B O AH 1 JHF5 = 642123kttt 321 450
1682 VR R 1 FH 640502%k4kkx%%3019 390
1683 i RAE 2 NS 64222 2%kkkkkxkk 1817 780
1684 IR 3 A 51 6422224 kkxkkkk 181 1 1170
1685 g 1 45 64032 1xkskskokrksk 1 324 390




